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— 31 DIPR TIOR NPY [NIEDOR Dyab] ¥pap Dya b RO
The owner of the land should say [to the owner of the trees], ‘uproot
your trees, take them and leave’

OVERVIEW

7°27 27 maintains in the case where Ypp2 P°17 11 NIP°R2 Po1a 7, that NIR mIp 7
only (while X995 27 maintains Y7 *Xm NI»°R 13p 1), 8" asked 1", according to
you that the m17°X ¥ was only 71 the NM17°X, but not the ¥pp, the ¥ppn Sva could
tell him 91 9w 719°Kk Mpy. Our Mooin offers two interpretations of this question.

- ywarmuay 'urvs
The explanation (of 121 717°X MpY) is that you should uproot your trees when they
will wither (but not now when they are alive).

mMooIN anticipates and responds to an apparent difficulty with this interpretation:
— a7 299 NN NIN 7OV 29 DY 4N

And even though that indeed this is the truth according to 1''9, that once the trees
die, he cannot replant them, so what is 9" asking 1"; indeed 1" agrees that the ¥papn %2 can
claim 121 739K Py —

mooIn replies:
—>wasrys YIPYY O IMIN PINTIY RIID PNRT NI 29 1OY 7599 DIPN Yon

Nevertheless ' challenges 1" that it is not logical that he can pressure him
to uproot it immediately as soon as it withers; the reason it is not logical -

— 5 991 1IN /3T 115
Since he presumably sold him three trees (and once someone buys three trees he is 711p

' The term w0 (usually) indicates that moIn is rejecting another (more obvious) interpretation. Here maoin rejects
the following interpretation in N190IN (the "»°n? ¥n 7w, that he should be able to force him to uproot the trees
immediately even when they are alive, which conforms closer to the literal reading of the X723.
? The reason Moo (prefers this interpretation and) rejects the following interpretation (see previous footnote # 1),
may be because since 1"7 maintains that the N7 Hv2 was Iy (three) n2°X (and the Ypapi Hv2 was Ay only the
YpIp, not the N117°R), what right should the ¥ppi Hv2 have to force him to uproot the n%°X, while they are still alive!
3 5" is saying to " since you claim that the N37°X:7 9v2 has no ¥p7p at all (even though he bought three trees, which
usually gives him ownership in the surrounding area), the ¥pp1 %¥2 should have the legal right to evict him as soon
as the trees are dead. [We assume that he has the ownership of live trees, but not of dead trees (which may not be
considered trees at all)]. However this does not seem logical, since the n117°x77 5¥a (who bought three trees) should
have somewhat of a right in the ypap (at least to the extent that he must not uproot his trees [immediately], or to
keep his trees and (merely) not have the right to replant them).
* See “Thinking it over’ # 3.
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the surrounding ypap).

Mmoo offers an alternate interpretation:”
— NP INYNRY TITIN IPY 999919 13981 NI

And in addition we can say; that indeed "7 meant to ask that he should force

him to uproot the trees immediately (even while they are still alive) -
— 0199 ¥D9DA 19 PRT NN NN /32 199NT 119 NS 299 *Nowp s9m)

And this is the difficulty 2''9 had with 1", since you (i"1) said that even if he

bought three trees, he has no rights in the ¥»9p at all, and this is so -
— NV MHNPY IYAT DIVN YPIP NOY NN MNIDIN /)a NNIYYAT 2) DY 9N

Despite the fact that generally when one buys three trees he acquires the
surrounding land, and the reason why here you maintain he does not acquire the
land is because two buyers are different from one buyer, since the buyer of the vpp -

— YDYPA 1Y 1YY T1Y 33 597 INYINA 29 1Y 219957 9997 55 195 T9naND)
Can say to the 81 Hv3, ‘just like I have no rights in the trees even though I
bought the land (since he sold the trees to you), similarly you have no rights in

the land even though you bought three trees (since he sold the land to me); 5" concludes -
— TADIN NIPY NPT N1IDYY YAIY ONP 20 ININD )5 ONX NNYV INN PYUN N

If you (i"7) consider this a valid reasoning, then he could even tell him
immediately 93998 93P, since he has no rights at all in the vpp —

Mmoo anticipates a difficulty with this logic:
- 8)",7‘1‘,7 P NIT 02V NIPA NPIY 1Ha NNHYAT 2) DY 9N)

And even though that generally by one buyer who bought two trees, where the
rule is that he did not acquire any land, but -

— POV 1Y )IINN DY 1Y’ 0PN Yan
Nevertheless the tree can remain there until it dies, so why did 5" assume that here
the ¥ppn Y¥2 would have the right to tell the Mi%°X7 Hv2 immediately 121 739°R Py —

mooIn responds:
i Ratara RO RF) 9‘[5 INT NNRYLY INNN 29V ¥9) NXON

> The difficulty with the previous interpretation is that 2"1 seems to be saying that he can force him to uproot the
trees right now (while they are still producing fruits). The question on 1" is also not that clear since 1" agrees that
he can tell him "21 79°8 Mpy. (It is also not so clear why he may not force him to uproot the trees immediately after
they withered, but he may coerce him to uproot them after some time.)
® The n"2n Mt amends this to read 277 7% XOWp.
" The n"a Mt amends this to read KRpPT (instead of MRPY).
¥ See “Thinking it over’ # 2.
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Here by two buyers it is worse for the N117°K77 Hv2 than if there is only one buyer,
for this same reason that (you [1"1] maintain that) the ¥p7p11 532 [can say to the

mi°K7 Hy2] just like I have, etc. [no rights in the trees you have no rights in the field at

all]. And since 1"1 does not agree that the M1%°X77 2 must uproot his trees now -
— NIAYO NN MNY 7Y 1Y INT) NIN
So rather you (1"7) cannot assume this logic that 121 >7°7% X3°71 °2, but rather the %y

N>R has a certain right in the ¥pp -
— PNDIN NI YPIP MY 99YI 7a0N

Therefore when the owner sold to one ¥?9p and to the other trees -
— Pywarwa 129702 BYINR YOI 1IN DYPNA NP MIIN Yya
The nu% R w2 acquires the space of the tree trunk to the extent that he may
plant others in their place when they wither -
— pa0390 Y9915 723 12 YN 733 192 99999
And we are discussing any situation, whether there were three trees or whether
there were two trees, as the 0"2w1 explains.

moon clarifies the ruling according to 5™ (which is not in total agreement with the *n"aw):

— ¥pp AtY PNoTNa WIaY [1199] MNIYINY 75980 ¥P9D 99 PN /3 4Ny
And even if there are three trees, the m17°x77 v2 does not acquire (even) the land
which is necessary for the nourishment and harvesting of the trees (different
from a single purchaser of three trees), [since] the seller explicitly stated, the yp=p
is for the other one -

9919 1921 N9 PYa TITHT 390 3 DIUN 16]’31‘,7)32 09NN YU WY MNIYIN 723 /99N)
And even if it were two trees (where by a single buyer he has no rights to replant,
however here) when they wither he may plant others in their place because the
NI’k 9v32 can say to the ¥pap %¥3, just like he sold to you with a ‘good eye’ etc.,

? Others substitute '7°2 X7 instead of 7> N°X7.

195" is asking 1"an, if you maintain that the N139°X71 %¥a has no rights in the ¥p7p at all even though he bought three
trees (because two buyers are worse than one buyer, regarding trees), then he should be required to remove them
now (even though a buyer of two trees does not need to remove them now, but we are now assuming the two buyers
are worse than one buyer), and if the n117°X77 Hv2 has a right in the property (that he does to need to uproot them
now), he should have the right to replant them, since he has a right in the property.

1" maintains in both cases he can keep the trees until they die (but he cannot replant them); this is what p 7
nNI?°X means, while 91 maintains in both cases he can replant them; this is what ypap *¥m nu12°X 73p 77 means. See
VY MR °"72, why 5" calls it ypap 3.

' See a1 7" MK 7"7 22w,

B at.

" The n"31 ninan amends this to read 1°9x7 (instead of 12°5K1).

"% See “Thinking it over’ # 1.

' See “Thinking it over’ # 2.
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to me he also sold with a ‘good eye’ meaning that he allowed me to retain the right to replant the
trees.

SUMMARY

5" could either be asking that according to "9 the ¥ppn H¥2 should have the right
to force the mMi7°Ri1 Hva to remove his trees immediately after they wither (but not
while there are alive), or " is asking that according to 1" the ¥p7p1 %¥2 should
have the right to force the m17°X7 %¥2 to remove the trees even while they are alive
(since two buyers are worse than one buyer regarding the i xn Hv2).

THINKING IT OVER

1. moon writes that even if he purchased three trees he has no rights to the land,
since the seller ‘explicitly stated” 121 ¥p1p 71>." Seemingly according to Mmoo we
are discussing '*w"» npm and so the 72m in fact claims that he sold nothing to
anyone, it is 7973, so how can Mmoo say, he ‘explicitly stated’?!"

2. mvoIn distinguishes (regarding one who buys two trees) between two buyers
(one bought trees and the other bought ¥p72), where he retains the rights to replant
(according to 8™),%° and one buyer where he cannot replant them.*' Seemingly the
same argument there is by two buyers that 121 179> Pva 1 779, should apply by
one buyer as well!*

3. According to the first "5 of M50, what would 5"9 maintain if he was p>1n in
only two trees?”’

17 See footnote # 15.

18 See previous 717 71"7 'o1n (TIE footnote # 6).
1 See n"m.

20 See footnote # 16.

2 See footnote # 8.

2 See DX 1 KW

2 See footnote # 4 and X171 MR "2,
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